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Attempt four questions in all, selecting ‘any
two’ ques.tions for each’ Section.'
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Section A
(Tvs ‘a)
Distinguis-h between pure public goods, private goodé and mixed

goods. In what way one can achieve Pareto optimality when an

economy provides private and public goods. Discuss. = 6.6
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()  Discuss the various factors that determine the extent and

direction to which product taxes are shifted.
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(ify  Diagrammatically explain the different versions of equal
- sacrifice principle of taxation. Does the principle of equal
sacrifice necessarily imply progressive taxation ? 5,7
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“Externalities cause market price to diverge from social
cost, bringing about an ‘inefficient allocation of resources.”

Examine. How can we solve this problem with government

intervention ? 5,7
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" Write short notes on' the following :
(7)  Tiebout Hypothesis-
(i)  Reasons for market failure. 6.6
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Section B
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D_iséuss thi' role which subsidies have been eLx’pcctcda to play
in Indian economy. Discuss sub’sidy reforms in India in light of
rising burden of different subsidies. 7
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What are the objectives of fiscal policy in a developing country
like India ? Suggest measures to ensure sustainability of public
debt in India. -7
R S faehraeie sdegeren # st Ay & w0
kI § ? IR § WEGHE B H TG T T
% fau o goma s

Discuss the constitutional prévisions regarding the division of
financial resources between the centre and the states in cqrrect-

ing fiscal imbalances in India. In this light what are the main

recommendations of 13th Finance Commission. Explain. 7
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4, Write short notes on the following :
. | Rationale of Goods and Service Tax (GST)
()] Eqijify and efﬁciencyribn'_lndian Tax system. 33V
frefofen W wfi ot fafay
¢ T IR FM W (Gﬁ.qa.z*r.)lm qfReE TR

(i) R T YOTSR § WHA qe e

7077 6 600



